


§ fo lowing questions : 10x2=20

N

(d) Quantity and price are recorded in ther |
s the techniques of costing ?

- Card. Write true or false

(e) Time weges is suitable where quantity

6£
- Work is more important than quality of wor ' et Ol Srelirate
Write true or false. ’gmponents X and Y are used e

O s iaey. blabe daseoRen b

usage — 600 ii%r
num usage — 900 uplts per
usage — 300 mﬁts pefév&‘f ho

G ouailin & 480. units, Yol

() Rent is variable ovethead. Write true or fals .

2. Answer the following questions : 2x2 r

(a) What is labour turnover otk

(b) What is bill of matenals ? , Units » : _
3. Answer any fwo questions from the following “ i W Xf__ 6 i ety

5x2= 1_ Weeks

&

ulate ;

> ¥ i

| Re-order level

(a) Write any ﬁve dlfferences ‘between ﬁnanm
accountmg and cost accountmg
(b) What are the different methods of measun ) Minimun level

~ labour tumover 2 Maximun level

g

.} Average level for each component X and

(c) Write the dlfferences between ABC analy

VED analys:s
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(b) What are the various methods of absorp . GROUP-B
of ? A b
Qverhead : ] anagement Accounting)

Or Marks — 40

- following questions as directed :
1x6=6

Calculate the material price variance,
rial usage variance, material mix varia al
and material yield variance from the follg
ing data : =

ting is a tool of Management Accounti
e true or false).

Raw Standard mix Actual miy ysis of financial statements means
materials| units| price | Amount| units !price tofdetermme the s1g:{uﬁcame and
kg | Rs. | Rs. kel d ning of the data presented in financial
; g L e ients. (Write true, or false).

i

60 | 25 | 1,500 | 56 | 25
dlty means ablhty of a firm to meet its

B 40 | 50
‘ 4R Jidnl 50 g-term obhgatlons (Wnte true or false).

i LTl 36 ' g ick ratio of 1:1 is considered to represent
: 70 = '  satisfactory current financial position.
v %4 frite true or false).

mings per share =

1 profit after taxes — preference dividend
L No. of equity shares

Nrite true or false).

The standard loss is 30%.

»'tribution is the differenece between sales
(Fill in the blank).

i) CMAC ) [Turn over
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Or

| makmg a loss of Rs. 40 000 and
rmation is as follows :

6. Answer the following questions :

(a) Mentnon ‘two objectives of manag
accounting,. ' ;

(b) What is margin of safety ? ,
. oSt

7. Answer any two questlons from the follo
D 5>< ). required t. calaclate

b 75 igﬁﬁ]

(a) What is cash flow statement 2 %” eak even pomt :

(b) What is budgetary control ?
| “ +1,00,000.

() From the following information, calcula ,
| Profit when sales are Rs 6 oo 000.

(i) current assets and
(i) current liabilities. ”g“slo‘:)fogafety Whe?‘ "0“‘1 Sales are
Current ratio = 2.5 '

i Working capital = Rs. 90,000.

in in brief the followmg budgets :
Cash budget ‘

8. Answer any two quostlons from the follo ‘ ,‘ ) Master budget
| ) Master bu ge

10X2=“*
l) Zero-based budgeting

(a) Explain managerlal application of marg
costing. ,

4

V) Fixed budget.
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